MA 16010 Lesson 27: Antiderivatives [

Example: 1t f(z) = 32* + & is the derivative of a function F(z), then
F(zx 5 B L
(@) = x° 3 z, L e
LT .

£
1 2
In general, F(z) = b A{x ‘*C , C 3_.2\/)‘0/‘\ Con (‘E@N"F

Antiderivatives. An antiderivative of a function f(z) is a function F(z )
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An antiderivative is determined only up to an additive constant. When
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Rules for integration. We can reverse engineer rules for antiderivatives
from those for derivatives:

e Additivity, constant multiples:
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e Constant rule




e Antiderivatives of other functions:
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Exercise: Compute
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Exercise (cont.): Compute
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